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i e O | Zakazka: Geotechnicky priizkum v Bedfichové | [Datum: 13.04.2021 | | Je doporuceno prednostné vyuzivat tmave zelené sloupce | DPM]_
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0.0 0 0.0 0.1 0 0.0 1 0.0 0.0 0.07 | velmi mékka | mékka - - - - 18.5 - 20 - 0.40 | 0.47 0.1] oo
0.1 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.46 mékka mékka - - - - 18.5 - 31 46 | 0.33 | 0.68 1.7
0.2 1 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.33 mékka meékka - - - - 18.5 - 31 33 | 0.33] 0.68 0.9
0.3 1 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.33 mékka mékka - - - - 18.5 - 31 33 [ 0.33 ]| 0.68 0.9
0.4 3 0.0 Pr 3.0 4 2.9 1 1.7 prach, hlina 0.56 tuha tuha - - - - 18.5 - 31 56 [ 0.32 | 0.69 2.6
0.5 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.46 mékka mékka - - - - 18.5 - 31 46 | 0.33 | 0.68 1.7
0.6 1 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.33 mékka mékka - - - - 18.5 - 31 33 | 0.33] 0.68 0.9
0.7 1 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.33 mékka mékka - - - - 18.5 - 31 33 [ 0.33 ]| 0.68 0.9
0.8 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.46 meékka mékka - - - - 18.5 - 31 46 | 0.33 ]| 0.68 1.7
0.9 1 0| 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.33 mékka mékka - - - - 19 - 31 33 [ 0.33 ]| 0.68 0.9
1.0 1 0.0 Pr 1.0 1 1.0 2 0.5 prach, hlina 0.31 mékka mékka - - - - 19 - 31 31 | 0.33] 0.68 0.8] 10
1.1 2 0.0 Pjm 2.0 2 2.0 2 1.0 pisek jemnozrnny - - <0,15 velmi kypry kypry - 19 25 - 0.36 | 0.58 19
1.2 4 0.0 Pjm 4.0 5 3.9 2 2.1 pisek jemnozrnny - - 0.24 kypry kypry - 20 29 - 0.34 | 0.64 3.8
1.3 5 0.0 Pjm 5.0 6 49 2 2.6 pisek jemnozrnny - - 0.28 kypry kypry - 20 30 - 0.34 | 0.66 4.7
1.4 7 0.0 Pjm 7.0 8 6.9 2 3.6 pisek jemnozrnny - - 0.34 kypry stredné ulehly - 20 31 - 0.32 | 0.69 6.6
1.5 8 0.0 Pjm 8.0 10 7.8 2 4.2 pisek jemnozrnny - - 0.37 | stfedné ulehly | stfedné ulehly - 20 32 - 0.32 | 0.70 7.5
1.6 8 0.0 Pjm 8.0 10 7.8 2 4.2 pisek jemnozrnny - - 0.37 | stfednéulehly | stfedné ulehly - 20 32 - 0.32] 0.70 7.5
1.7 8 0.0 Pjm 8.0 10 7.8 2 4.2 pisek jemnozrnny - - 0.37 | stfedné ulehly | stfedné ulehly - 20 32 - 0.32 | 0.70 7.5
1.8 8 0.0 Pjm 8.0 10 7.8 2 4.2 pisek jemnozrnny - - 0.37 | stfednéulehly | stfedné ulehly - 20 32 - 0.32] 0.70 7.5
1.9 9 o[ 0.0 Pjm 9.0 11 8.8 2 4.7 pisek jemnozrnny - - 0.39 | stfedné ulehly | stfedné ulehly - 20 33 - 0.32| 0.71 8.4
2.0 26 0.0 P 26.0 31 25.5 3 125 pisek - - 0.58 | stfedné ulehly | stfedné ulehly - 21 37 - 0.28 | 0.78 30.0] -0
2.1 61 0.0 R 61.0 73 59.8 3 29.3 0.0 2.34 | velmipevna tvrda - - - - 21 - 33 - 0.31] 0.72 76.2
2.2 320 0.0 R 320.0 | 381 | 313.9 3| 153.8 skala navétrald 5.36 | velmipevna tvrda - - - R6 23 49 536 | 0.20 | 0.90 461.3




